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fA) Ef ey BT a7 1y 7 (C) TETF

B (B) amgy

E,H .
wasﬂ-krii% tive power in the

Chi ed .
st BN e S
nﬁm“ﬂ}- which ¢ Wa  (or principal
the Maratha k;'ngg,:% 'E?EC&mE the Capﬁalpuf

(C) Nashik

Macr SRiVaji’s deaty, (ph 1 (39)

(B) Na
(D) nggﬂpune)

82 W JH TR
w —_—
JEA) fasiar i

WIS (D) féws

Mahavir Swami becam
“Jina”, what does “Jina" miank;mwn o

(A) The Conqueror (B) The
great soul
(C) The God (D) Non-violent

&, 91 TSy & o 3R 3=
RUSSIRE AR aRIE S =Y
Prefafgad asarada F g ¢
(A) aefiren (B) It

(C)

As mentioned in Asokan inscriptions, there
were five major political centres in the
Mauryan empire including the capital
Pataliputra and other four provincial
centres. Which among the following was
not the provincial centre ?

(A) Taxila (B) Ujjaiyini

(C) Suvamnagiri (D) Indraprastha

A S AT ERRY

(A) Tage R feamae)” = i daed
(C) faama 3wt (D) &

Rigveda contains dialogue between a
sage named Vishvamitra and which two
rivers 7

(A) Sutlej and Chenab

1722, the SUDS..
:2 Gawai Raja Jai Sing

(A) Amber
(C) Lucknow

% % fere : EIERIE
. 'oft i “faried
mmmrﬁ‘ﬁﬁmﬁw A
=] T fopa =me, 17 7

(A) HER SeeTTvTE 1
AB) . EILISIEIL

() sregfwar
(D) W @mes! |
Who among the following had exhorted
his colleagues to realise @hat the
Constituent Assembly was British-made
and was “working on the British P]'.;,ms as
the British liked it to be worked out™ ?

(A) Sardar Vallabhbhai Patel @
(B) C.Rajagopalachari 2!
(C) Abdur Nishtar
(D) Somnath Lahiri

foom T 3R drfieme g 1 uimg
Torfife J aroeft 7w v & forg wum
& im frefafea & & fem oeifts g

&1 fpam o ¢

ﬁ]ﬁm{mﬁ

(C) Tégrm ftrfne fofers wdifem
(D) 2 afed et wefirewr

Chittaranjan Das & Motilal Nehru had
formed which of the following political
parties within the Congress to argue for
a return to council politics ?

(A) The Indian League

(B) Swaraj Party

(B) Beas and Sutlej (C) Hindustan  Socialist ~ Republic
(C) Chenab and Ravi ﬂSSﬂClﬂtlDﬂ
_ D B_eas and Jhelum (D) The Bombay Presidency Association
MN2 =
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_ ..I&fcm w‘% | () fagm
E irui (Siroy) Lilly is the only terrestrial

FEE %1 a8 AfETH ﬂiﬁfﬂgaﬂmﬁ'aﬁ
TETaq it ¥ st Aaad # fEered &
qY-gy @Wod & Guds i stEEdm
JHTeTerd IE A I HEEHA F AR H
ATy fmr e 7

A) =i (B) ®MEH

(D) AT

WTere was the session of the Congress

had taken place in which Mahatma
Gandhi convinced other leaders about
the need to start a non-cooperation
movement in support of Khilafat as well

as swaraj 7
(A) Bombay (B) Lahore
(D) Nagpur

(C) Calcutta
Fraferfea & & 27 g Regmme &
FYOH AT AR PR eI EE S AW A
fi T o 2 7
(A) B¢ Eme @A
(B) THM 390 @
(C) W& HESH FATH HTHE

D) @ TFRE G@H

0 among the following was the

founder of the “Khudai Khidmatgars”
and is also known as Badshah Khan ?
(A) Syed Ahmed Khan
(B) Hakim Ajmal Khan
(C) Maulana Abul Kalam Azad
(D) Khan Abdul Ghaffar Khan

1913 # T e W ST
g
)

(A) Teeeht (B) ®ER

(C) wowar D) 84 wiaenl |
The  Hindustan  Gadar  Party’s
headquarter was located at in 1913,
(A) Delhi (B) Lahore

(C) Calcutta (D) San Francisco

fied () sofech/facht wma &
ﬁﬁﬁﬁ'ﬁ'ﬁﬁﬁﬂtm‘\'};ﬁm‘iiﬁm

A el Fafe fadt @ 7
(B) qfFgmg ama

Lilly found in which of the following
states of India 7

(A) Assam

(C) Manipur (B) West Bengal

(D) Tripura

Thoam g

.........

st s T

(P —— SR R
T ?
(A) TTHETH B) WEH ST
(C) (D) HERTE

13,

“Oriya Plateau” is situated in which of

the following states of India 7
(A) Rajasthan (B) Madhya Pradesh
(C) Karnataka (D) Maharashtra

w1 s 1 .W_M |
Tt b 12

) Fergff aat () |

14.

(B) g arg witg=m

(C) Ve wghera |

(D) eftror-afgam aai & (777

What causes rainfall on the coastal mﬂ?
of Tamil Nadu in the beginning ©
winters ?

(A) North-Eastern Monsoon

(B) Local Air Circulation

(C) Temperate Cyclones

(D) South-West Monsoon

T F AR 4 foFm w=ER &+
ITEZ AT AT £ 7

(A) T 1 T9T5e

(B) Il TieE AT

(C) TeT IS

(

(D) Uit e (vremeft) T

15.

Which type of granite is found in Jalore
district of Rajasthan ?

(A) Rakhee Green Granite

(B) Merry Gold Granite

(C) Black Granite

(D) Rosy Pink Granite

(C) ufvay g
¢ hure
Portuguese s &

l'i}H{‘lwmg state in
(A) Goa SUTs of

[C:‘ WESI Bgngal
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agriculture sector in India ?

(A) Horticulture
(B) Potato Production
(C) Petroleum Production
(D) il seed Production

e p— mﬁn—r:nh
16, rﬁq-“maﬁ?ﬁ"""j _____________ - e e w ﬁ;ﬁ.ﬁ.__—-—-{'
198 1 = faframE
0wy R ERn A (B T e R ) et
(A) e s fg 3:3 ;L—%z'nmﬁ W&
x sy (D)
e freemer, $fu r;?':'g;/ nead office of Insurance
(E?:l '&ﬁfmw Where 18 the Devcmpmentw
(C)] anieles T % SRre af Regulatory
Ff I g located 7 (B) New Delhi
Who approves the Fai y A Mumbal
Pri Fair and Remunerative (A) . (D) Hyderabad
(A;:E[()[‘:RP} of sugarcane ? (C) Chennal .
irectorate  of Marketi m@fiﬁ_ﬂ_ﬂwﬁl
Inspection, Ministry of Aunciiten | 20, freafifiad § 3 S ST ,
(B) g& National Sugar Institute, Iﬁ%m
. % (Y TS (N
) i Comatieo.ca Economi | (@) WIS C (wﬁqﬂw}&m
(D) Ena:imlg?iis:;‘cm for Agricultural Costs Eg; ez #i _yfq}lﬁﬁ?ﬁ'ﬂﬁﬁ?ﬁ ;
. .h of the following is not a type o
17. ﬁmﬁ-ﬂiﬁ 48 I W yd ay %Igl;itzry Insr,imti.::nn?g
FHT HR qwif e A) NABARD
“HH HH F mu% a5 EB)} Loan Association
E3] ¥ 5 T%) (C) Commercial Banks ol
(A) Wr . F (D) Cmd1t+cn-uperanve ocieties it
(B) wercan il g urdor freme i | @) WRHE @A afufeEm, 1947 $ i
— BR & WY Yd U futsa =9 T 3R
(C) e YT (qe) sufam, gy fagmdest 7 WRE @R
(D) ma%ﬁm} ol siftfrm, 1935 6t fve wra & wrauE &
Which of the following is an Indian a&d 194?&19&%@3.
L@bgdm Law and Social SE;m‘ity measure : ;%} $ 100 (B) &m 101
aimed at guaranteeing the “Right to 135 D '
work™ ? . " With the Pﬂssin{ }u?mtl:gﬂ Indian
(A) Indian Institute of Management Act Independence Act %4'? India became a
(B) Mahatma Gandhi National Rural minion and the Dominion Legislature
Employment Guarantee Act g‘r?}i?sgi“’ﬁ fl‘%m 1947 to 1949 under the
(C) The Payment of Wages GG\’Em]'::jl: t” ¢ I“’h.“;h section of the
(Amendment) Act, 2017 (A) Section Loo 12 Act 1935 ?
(D) Citizenship Act (©) Sﬂct;gﬂ 132 ng; gection 101
. ection 130
et gwife v & freffen LA B | 5y ww mfs ) g
Y &7 1 faer % fore frdier 2 7 AN S ﬁ"’?ﬂ“ﬁwﬁﬁiﬁw
AA) STTET (g} e sened “ﬁ%ﬁqﬁﬁﬂﬁ%mmmé? idan
(C) Fgiferam IeneA (D) forere Iemed (A) 3WER J5 6wy '~.
“Golden Revolution” is responsible for (C) 9 &R D) 12 :'é’fi! ]
the development in which of following A ‘person who is not o L
r o

(A) 3 months
{C} 9 monthg
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23. EHWEWW,%E

R

24.

i

g 3fenH 3 FiwEn g g &
_ HEIHA FCT W | |

) Shetehdl 3= ~TETed

(B) feoell 3= =marem

(C) "a™ 3= =

(D) 3TY 9&91 3= A

Name the high court that has jurisdiction
over the Union Territory of the
Andaman and Nicobar Islands.

(A) The Calcutta High Court

(B) The Delhi High Court

(C) The Madras High Court

(D) The Andhra Pradesh High Court

T U gRnAl & wiews & fou ame
#1 sz g 73at s 74af @At
HIiYH e T foha T 7

(A) 3mRET, 1973 (B) &, 1952

Lo fewmm, 1992

(D) fea, 1973

When 73 and 74" Constitutional
amendments were passed by the
Parliament of India for the existence of
Panchayati Raj Institutions ?

(A) October, 1973 (B) November, 1952
(C) December, 1992(D) December, 1973

e -

26. T % ey H Feaffan iﬁﬁ;nﬁqm nﬁ%?

T

(A) FHFRTHERE |

(B) 98 U EgEn == 2 |

(C) T® vameell § wehuy w19 =
TSt o1 Trehe 2 |

(D) &2 3mfey 9 = vk 3 & 3 oed
1 FATEAA B ASATR |

Which one of the following is correct

regarding larynx ?

{A) It houses the vocal cords.

(B) It is a bony box.

(C) It prevents the invading pathogens
into the trachea.

(D) It is an organ made of cartilage and
connects the pharynx to the trachea.

27.

18.

mﬂﬁﬁﬁmfﬁﬂmwﬁmﬁ_ﬁ?
A) BA Hi [B) &=

(C) wWEer  @HD) T

Milk of Magnesia is which type of colloid ?
(A) Solid Sol (B) Sol

(C) Aerosol (D) Emulsion
frafafga § @ ®9 @1 SZEES 90
ICC B 8 A | e B Ll e

(A) WEEE T  (B) &

(C) #¥HTd | D) W=

25, @ 1928 # urtee e _wffa gm@ ; ; ,
it Which of the following organic
frefeien @ @ w9 @ sififem/ ks compound coagulates the protoplasm in
T fofa T e ? the human body ?
mﬂﬁ-@ (A) Methanoic Acid (B) Ethanol
: C) Methanal D) Propanone
__Lepy e w1 forwt ! © (D) Prop _
(C) HATOIY 29. Fraferfias # @ o @ s SR Tsa §
(D) e vifr 3y fds fRawE AT 7
Which among the following acts/bills (A) HFRF (B) #iH
were proposed by the Motilal Nehru e Afe
Committee in the year 1928 ? _'_,JEC'}. Gia “D}‘
(A) Hbert Bill Which of the following is the only Dwarf
(B) Bill of rights planet located in the inner Solar System 7
(C) Criminal Tribes Act (A) Makemake  (B) Ceres
(D) Sindh Land Avigliﬂn Bill “[b‘-fll l"'l_l-illlu (D) Haumeg
- MN2
5 |
’-1_'_._.___,_._--—"'"_"_ — _\_-_--_""‘—-—-—._.___‘_‘_




30. fagan {ﬁﬁ}ﬁqﬁﬁ%ﬁ“ﬁw&aﬁ?ﬁﬁ

Join Telegram Group "HaryanaJobs.in"

o ——— — 1
— ‘
| e B

I -
(A) T 3 m@%

(C) AT 35 (D) wepifibes A
IWhich of the followin acids i

in the stinging hair of n%nlglfesa:'scsp;esmt
(A) Mempnnlc_Acid{B} Ethanoic Acid
(C) Oxalic Acid (D) Ascorbic Acid

vls-pfics o 2 49 3§ i o
v F A F o 48 st d 304 @
ST & | w10 3w i e v
T 6 1, T 3 10 3 | a7 wan
8.5 BT | 59 W1E 3P 10 v w
FReR 5.5 o 311 7 3k sprey 10 sive
5 T 7 W wda | g A Y
feru frm st it sem 2 ¢

In the England-New Zealand one day
match, due to rain, England needed 323
runs in 48 overs to win. In initial 10 overs,
the average scoring rate was 6, but in next
10 overs it increased to 8.5. It then declined
to 5.5 in next 10 overs and again rose to 7
in next 10 overs. To win the match now
what average is needed ?

(A) R2S

(B) 6.75

(C) 7.75

\/(D} z8 | 13 781/ None of these

32.

33.

RE N

freaffeada s @ saud FAH2 7
Which of the following is in descending
order 7

(A) 5/8;9/13:11/17

(B) 5/8;11/17:9/13

(C) 9713; 11/17; 5/8

( .
0081 0484 25 mrafgm:
00064 625 211
0.081 0484 2.5 ..

B o—— n— 15

Square oot of - 4 * oS X 21

(A) 0.45 |[H] 0.34](C) 0.75 (D) 0.55

@ —glyl s @1 -9 TR R

¥

0.081

35, feem arH

6. Profafas i @ fea fawes § _femagm Y

3.

alue of 81 —97) ' + (4T =91 is:
The value of (8~ (€) 15

3 15% 319

E T e £ o 3
2% gfiEEd T e
7 10,736 ¥ & | & H
Fram 2 ?
Divya spends
on food and 15%

children. Of the I
spends 25% on entertainment

on conveyance. She

Divya ?
[(A) 32,000
(C) T 30,000

’/é.} T 30,200

(D) ¥ 32,500

a2 7

AT
é; =taterel - A |
(C) fergsn -
(D) e — FEER

¥ lll’:
(i *l

Foaifmda e 7
(A) ErER safF ge feama Far @ |

24% of her mﬂﬂthi}" Sa!&ry I.;::-“:|
on the education of her

remaining salary, she %
and 20% ﬁ/‘

is now left with
% 10,736, What is the monthly salary of

‘;?E }U
v |

\

8%

q’ i

BET safdd  wE % v
(B) A CLRy

|
(C) BHER =afa a8a & TRem w2 |

O

THER SATad] ol Wie™1 =99 o &1

v femrd e I 2
38, Fafefees 9 9 fem faeey § oft
_emd REEE

(A) 59T, 9rer, Htan
(B) W9, T4, {9
C
AP , ST,
39, fa=fefaada frn e S vz ag

(A) WETed! BraTd wafyfy 2 |

(B) & ¥t 3119 s, w3 fardt |
(C) 31 29 qra & =g 7 7y |

.?

M ?

FCD) T ST ¥1E 8 Gt 93 o o

et % G TR a2 ¢
(A) Afefim g () Hftarizs v
[(©) TS I 4Py o i

40.

v
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e
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§
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41. Choose the antonym of underlined word
from the given options :

R He is very fastidious about his choice of
Jg  food.
— EA! Careful {B) Thoughtless
. } Careless (DY Indiscreet

42, Put the correct form of the verb ¢

I am the person who o be

blamed.

A) am (B) are
SO D) e

43. Which of the followi spellings is
incorrect 7
“TA) Jourmey Amateur

(C) Beneficiary
Read the following paragraph and answer
the following questions : (Q. 44 and 45)

India is marked by a diversity of physical
features such as mountains, plateaus, plains,
‘coasts and islands. Standing as sentinels in the
north are the lofty snow-capped Himalayas.
Him+alaya mean ‘the abode of snow’. The
Himalayan mountains are divided into three
main parallel es. The northemmost is the
Great ya or Himadri. The world’s highest
peaks are located in this range. Middle Himalaya
or Himachal lies to the south of Himadri. Many
pupul';r' hill stations are situated here. The
Shiwalik is the southemmost range. The
northern Indian plains lie to the south of the
Himalayas, They are generally level and flat.
These are formed by the alluvial deposits laid
down by the rivers — The Indus, The Ganga, The
Brahmaputra and their tributaries. These river
plains provide fertile land for cultivation. That is
the reason for high concentration of population
in these plains. -
44. World’s highest peaks are located in the

(D) Aniversary

A} Shiwalik range
(C) Middle Himalaya
(D) Southermmost range

(B) Iron ore deposits
(C) Diamond mines
(D) Copper deposits

46, U fafvsm g2 ww A, ‘@ + W e
B, ‘D ' 1 TR, fa’ e ST R
Ao o Hramta R
In a certain code language, ‘@’
represents ‘+', ‘@@’ represents ‘-, ‘a’
represents “+" and ‘97 represents “=",
frferfiaa wom = s @ .

Find out the answer to the following
question :

R0 g 100 B SH4 D 121 all =7
4R 58 (B) 158

(C) 62 (D) 205

gena F feu 7o wE ° | o dE I

Hifem :

—

Find out the wrong number in the given
sequence of numbers :

T B I
V?} 605! 588, 6117 634, 617, 600
A)

611 (B) 605

(C) 600 D) 634

17 9, 1998 T TATE 1 14 =1 fe7 =1 7
(A) BIHER (B) AT

(C) FHAR (D) HTeTEn

What was the day of the week on
17" June, 1998 ?

(A) Monday (B) Thursday
(C) Wednesday (D) Tuesday

49, T A+Bw I 2fE A, BH AR,
A-BE ad RfE A, BFWER; A%B
Fiadefr A pE@masitaAxBs
s fr A BRI R Pefafsada
s R fEp, QE R ?

If A+ B means A is the mother of B;
A - B means A is the brother of B;
A % B means A is the father of B and
A = B means A is the sister of B, which

of the following shows that P is the
maternal uncle of Q 7

(A) Q-N+MxP (B) Q-8 %p~

P

(C) P+S<N-Q W"HWKQ

2
W as SPDD.%.[U::-—EX‘**-{&J*E‘H ‘Mcr}z?
e AN : =
8E- \y 81 -5kt =1l G120y zg
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T A T 8 S el § /T E |
gﬁgﬂ"ﬂs@a@%m@qﬁgawﬁﬁu

[ wfiagh IR |

. %= aaﬁq:ﬁﬁgl
(A) afe Fae Fred 1 smor e 2

(B) 712 ae fasd 11 srgeror sean 2 |
(C) I A o1 1471 1T S0 HTa & |

AD) FRAA I A A 11 g FETR |

i

In the question below two statements
followed by two conclusions numbered 1
ar}d I are given. You have to take the
given two statements to be-true even if
they seem to be at variance from
commonly known facts. Read the
conclusions and then decide which of the
given conclusions logically follows from
the two given statements, disregarding
commonly known facts.
Statements : All poles are guns. Some
boats are not poles.
Conclusions :
I.  All guns are boats.
II. Some boats are not guns.
(A) If only conclusion I follows.
(B) If only conclusion II follows.
(C) If either I or II follows.
(D) g%either I nor II follows. 3 eefe
7 8 °, wiedig fewt
& wdtaTss i dae ﬁ%ﬁ o |
ggﬂ_,aﬂim T @ % € 3 A
8 ST o fear & | 3% R T
© gt e a1 ?
Recently, Shubhankar Sharma, Indian
golfer has the best result at the
after finishing In tied-eighth position
at the R@ya[ LiVEIPO‘-‘l Gle Club in
Merseyside, Eng]md. In which year he was
conferred the Arjuna Award ?

9" (ATESG)

oy [ e P

freferfaa 1 =
__ mﬁa&g
¥ gniter & 9T TEe

Hew & TR ? o fafio

i @ fma e

fafies (sefgza
BIEEE

]
[y T TETE 4 (I mﬁm =)

| (D) urat wEAd S

&

—

54.

' ' t
Which among the folloWing Governmen
of India undertaken Corporation has

{ join “Asia
become the first member to join 8
Transition Finance Study (roup
(ATFSG) ? i
(A) India lnﬁ'qstmcture inance
Company Limited .
(B) Industrial Finance Corporation

Limited _
(C) National Housing Bank o
(D) Power Finance Corporation L1m1ted_
T WEI-20 % HHH HAE 5
————— ’
2R, WA 3 STTeTEs d T T 2024 F

for frfrfaa & @ feu_ 2w = wE

Hrdt 2

(A) %TH (B) AT

(C) FTA Q/(IS) ST

During the closing ceremony of

Startup-20 at Gurugram, India officially
handed over the torch to which among
the following countries for the year
20247

(A) France (B) Canada

(C) Brazil (D) Germany
ELCE

ﬁ,a%é.aﬁ iy :%7{ |l !
T i Eliilt;ﬁj
WA % WS AR § Ay s

AT e~ 3uRa $-yra =1 3@y

& eAR?
Which portal is launched by Chief
Justice of India (CJI) D.Y. Chandrachud
that allows advocates, litigants, citizens
to request QR code-based e-passes to
enter in the Supreme Court of India ?

/
#) YHEITaH / SuSwagatam
© /SuPranam
(D) AR / SuSatkar

(A) 2016
(C) 2020 (D) 24
MN2
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L —

st Tl et 3 Wia A 3.5 79 9w &
o5 o0 S ST T ) et S T
W F I A WA vt (NCAP) &
fiFa | NCAP 1 g0t w9 s | o
(A) 71 R FEEHE TEaH

_(B) =R HHTH TIH
(C) R THAlers NgaaH
(D) = FR G U
Recently, Union Minister of Road
Transport and Highways Shri Nitin
Gadkari launched the Bharat NCAP
aiming to enhance road safety by
elevating vehicle safety standards for up

to 3.5-tonne vehicles in India. Give full
form of NCAP.

(A) New Car Assessment Production
(B) New Car Assessment Programme
(C) New Car Acknowledge Production
(D) New Car Assessment Portal

56, @ oo Fafafea § o fw e A
SR 100 fftwr SR & woH ¥ for
ST - ST 2R B S A I T R 2
(A) Za —(B) FHake
©) s fam  [(D) e |
Indo-US task force has been set up to
elevate trade in which of the following
sector to $100 billion in next decade ?
(A) Medicine
(B) Space
(C) Computer Science
(D) Electronics

'@ﬁ?ﬂﬂﬁm?mﬂ%mw el
o & 3 % fepan Smem 2

(A) F18 (B) 3wy, ¢

(€) g i yd =
World’s first 7-minute cancer treatment
“jab” to be rolled out in which country ?

(A) England (B) US.A.
(C) UAE. (D) China

.....
a3 et i1 BB PEY
RS A B e e e s i et R

(A) HTeEA = Shetst @4 # 01 i
a1 1t %1 feru 7 s g0 ad A FA B |
(B) T4EA % dhergl a% 4 01 71
Tt = fere & sgad G FA R |
(C) 3T % etz ad # 0] St i 23
9 1t e foru 7 3fe 60 7 A FAE |
yy’ 21 % Sheret ad § 0] T 18
o it o feru 71 5 65 = AFAE |
What is the age limit for females n
“Mukhyamantri Ladli Behna Yojana”
implemented in Madhya Pradesh 7
(ﬁS Must have completed 21 years as ofl
01 January in the calendar year of
application and less than 60 years.
(B) Must have completed 21 years as o}
01 January in the calendar year of
application and less than 58 years.
ust have completed 23 years as on
01 January in the calendar year of
application and less than 60 years.
(D) Must have completed 18 years as onl
01 January in the calendar year of
application and less than 65 years.

59. Hie (e 3 v % gen e
PMI il off qER S | TE
gt Preferfiaa § § f68 S S ST
R R g e e 70
(A) "t [B) #¥](C) ¥ (D) T
Northeast Frontier Railway, bags PMI
South Asia Award for “Micro Project of
the Year”. This Project 1s “Instruction
Detection System” to save life of which
b Bt e oD
oat ephant eep (D) Do
60. mﬂﬁwmﬁnmgﬁtn (IAF) ttﬁ?t%{
T A TN IE e T S siee
T 1 A T |
annual training exercise
Western Air Command of

Name the
embarked b
Air Force (IAF) recently.
) wafGih/Swastik (B) Y@ / Shankh

Indi

(C) @igd /Tandav [(D) A3 / Trishul
61. H-Equq—:q;iﬂ‘ﬁ mﬂ"ﬂ‘nﬂiﬁ

T4 Fow Trea / bgantara i 3 fpa & 2

A) @0 (B) sl

e g

acnam Wildhfe Sanctuary” is '

which ofthe follow P
}@L Lfldak'i} 0 ﬂ\ﬁmg ?Mﬁ of India ?
C) Sikkim ED% A b & Kashmi

©)

sSsam

MN2
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el Bt e
— _ ) e r————— R _H”’_T%HH
T : M— e feh gRrarl
- Tq;ﬁif" ﬁir?ﬂﬁ F rﬁaﬁ@ﬁga g @ {GPCW}ﬁ member states are th?re in
e P ﬁ?ﬁ?zllfﬁ o1, IEH_[AH ng‘ﬂn:;:r{isatiﬂn for ﬂf;ﬁ:%ﬁmmm of
ﬁqﬁfiﬁﬁﬁﬁ%ﬁm ‘ﬁ mﬂqﬁﬂilﬁﬁi Chemical Weapons (OC) 203 (D) 193 /
frrmareqry —— (A) 195 (B) 194 ( -
(A) 38 (B) wewHt 67. ﬁﬂﬁffﬁ“ i § i AT ol SRy
(©) fosgam [ (D) smwam Te EIUEL K
village G%ETE]HJ]HTPE sg:ceatthm :-'135 [?gc[ared {C) e fFic:
25 UNESC0. o ot was declred Which of the following s an official
year 2021, had been built during the rule of language of the Maldives * :
which of the following dynasties ? (A) Dari (B) Dzongkha
(A) Musunuri (B) Bahmani (C) Malayalam (D) Divehi
(C) Vijayanagara (D) Kakatiyan @ e Frefafea o @ f6a g H TR
63. Rl wu & yurwft 3k s 6 6 .%? .
e v & dfaum % ¥ a5 JA) o | ®) CEIER]
Tgafer g1 1 et 2 | (C) =R (D) drets

The Prime Minister and the other
Ministers of the Indian Union are
a;gpmnted by the President under

of the Constitution of India.

(A) 37F=38/ Article 73 (B) 3%/ Article 72

(C) 316/ Article 70 (D552 / Article 75

64. _“FY" WG F w LA ﬁ;g
g /hganide DYATH HieT
wefifa ueh amfies - i Fe R 2

(A) fafdmm @) s

(C) (D) deTTE

“Koothu” is a socio-religious art performed

in Koothambalam temple in which of the

following State/UTs of India ?

(A) Sikkim (B) Andhra Pradesh
(C) Kerala (D) Telangana
“HA TR WreT HeA w6
frafafEa i afra o fREa e ?
JAA) FG, FAEH | (B) Ha, HENTg
(C) Wi9Tet, WeAl 96¥1(D) "R, TgTia
The headquarters of “Central Institute of
Indian Languages™ is situated at which
of the following places ?
(A) Mysuru, Karnataka
(B) Mumbai, Maharashtra
(C) Bhopal, Madhya Pradesh
(D) Manesar, Gurgaon

65.

70.

The “Pula” is the national currency of
which of the following countries ?

(A) Botswana (B) Cambodia
(C) Myanmar (D) Poland
| ET?ERH % frofafes § 761
AEafua g ?
(A) e Efee | (B) dfe @ifes
(C) =g afigw (D) HelGTeH Tlied

“Perungadai” is a work of epic
proportion by Kongu Velir. It belongs to
which of the following literature of India ?
(A) Telugu Literature

(B) Tamil Literature

(C) Kannada Literature

(D) Malayalam Literature

WA HEHR G T4 1967 # Frefafga 3 @

fora ﬂmﬁ%@n F T aqerht T _

T ™ ?

(A) 319 w36 & - |

(B) 3791 =56 @t -]
A(C) I =5 a -1

(D) WETER =%

Which of the following gallantry awards

was renamed as “Shaurya Chakra” in the

year 1967 by Government of India ?

(A) Ashoka Chakra Class-]

(B) Ashoka Chakra Class.I|

(C) Ashoka Chakra Class-I11

(D) Mahavir Chakra

MN2
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@———h———m
T et e i am o

frefafea T # g r .
A A O I | . w2 ) s denh &
' g e s ) e R | s R (A) TERT e R o ooy
| e g, s o 3o € st g | (B) Fedl @ mimﬁiﬁa-m —
| i TR 2w # amhes, snfds, dufre o HHIS %1 H2 )
Ao smaEad st § Rreh a9 @ o (C) wlem aferl, geum, wes @on ol
=fth T TH W 9N a1 98 g E W e _— @ % e il see w a@
£a1 8 | 99 9T 3UMIRT §a i B a9 Ee v st zdfer st arars =i =5 =t

g 3o & 5 Imifer Tod SEd & 7 41 It ) D) S ST, s, e
oftTaT 1 & ? ET: 39 shh 41 SAih 9 9 U R it w6
IYSeRT ET ST R S A o R o S | 7> W%meﬁ%f_nﬁmgﬁg

o A1l 1 I w1 ¥ | 39 yeR ot =i (A) 73-Fer 39es Tormr o e
frft-7-Tonell_&u & Imite 21 § sft s 6) TL T el 3T
RenEa E | — T ;
it ow # W@ Afiferm, s v el =g @ EE% mgwmwwm Cal
' FFerh @rt i Hig & W we Y afew wfewl
| UYL, T T IO T b PR, TR ATl | 7> S o H o o) i afl e 2
ﬂﬁqﬁmmmﬁmmﬁ (A) T 3 ufis =t @ TEfie

#
3
o AeT-a9 W R ¢ | X P F wE S &) 7 W ;
s 2 ) A Sohh G 8 | (e e g e RO
_difea &, f52 anafs wheurit, s, e Fiia -8 C&C VIR

TR iz a3 frere atz R |

74.  gETSGER A 4 e =1 %
T i s 5 o 3 R | SR fa ot deemd ol g Al a2

&1 AR W, B g1 i v TR . _
o m%mmmmam&ﬁ meﬁ' S f{ Ty 5
e o & ) forn s @ srafs ved am A B T E qias'd'mﬁ? =
{ dad 3| W 8, e sida AR o A
l' ﬁmﬁﬁmmmﬁm 'é%m%mr Ll
| %ﬁﬁ,w%mmﬁﬂ?g T s e s siwhe v fe wwmts
= § 3 IR ‘ + A
firfiet g% 3176 e feigd # o w03 o § | o 3 i & o e e & e #2_

®F % 7y feaa oft o2t 7, @ ot 9% 7 e (A]meilmm_mﬁmm
99 & T | 7w @ e & = fam e o ‘
gt 3R fFet o St o -anae qum qem | frafaftea T S gget 7@ T Sl $ S
1 R A et od & e Fo 8 § s a w | e (9. 9. 76-80)

Ta1-feran vy | 7 R TEh gt @ weed W ST HEHRY w1 3w R | wl g g
2 3t 3 i a1 oot o | Bore weert am | SfeR-gfe i T Al | FE G
€ foerdl, R w2-g3 emaw At 6 feufy oot | qﬂmﬁ‘mwa’#ﬁﬁaﬂa&tmm
B R | 3@ S G- gam e W | o @ o Ei | g we Y & el
T F1 Aam R 3t w3 R o A o | e 3 i, TG 9 S S 6 R | e
%lwmﬁﬁrﬂmaﬁmaﬁﬁmﬁxmm AT 8 g o1 @ §F SAT-3HI UH F 3 AH Y
1 T8 8 7 31 g~ Tor@ Ao ahl Jugeh TS 160 ¥ | orat g A o
o 6 e & $w A w22 T e 5| e w5, STt eft 3ftC A 9T I 2 i

T @ TR S22 |y g Afem W SgT-SeER wol fea fams

=

(w] 11 MN2
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e 55 B B
s B s

T ~ ~ . THE B 7 3T
PIOULEEN B of et s et 7 | R | 76 m% o
S SIS 3 e e 9 R o o g a7l & A Ry
- TR, SRS st i) 4 g e e | () g T 1 G i e g
3'!ﬁq;*'{3ﬁ"“ﬁﬁ,ﬂi§ﬂﬁtﬁﬁmﬁ_ﬂa (B) wiifes T, g 3 AW 4
1 ITH BHE o | W i v 36 9 % uREd B R ek G
gﬂ?tﬂi—iﬂiﬁﬁjﬁ_ﬁmaﬁm:ﬂﬁw_ﬁw o W 5
mqlﬁam%%ﬁqmaﬁﬁ"ggﬁam | adr Fﬁtg%ﬂm N
EE| - sHEe | :
wed, e, T R, 'y o, nﬁﬁ-@ﬁ?ﬁ (D) fugrgrd ¥
= g M | W % fer =i
2 7 % 2w mamaﬁ-ﬁaﬁ@ 7. ﬁ%gﬁ@ﬁ% .
T W G A 2w d | S R | B i 3 o o # o o
i w1 o @%%ﬂjﬁ%ﬁélm ( mﬁ;mmaﬂiﬁu
T gﬁﬁﬂﬂl,mtw «
S TSI ST I W R | Fo A0 @ : Q% A A I E |
it 1 331 31 T & e S v e # 13 T (C) i el o A -0 1 i 8
fréa 1 & 76 vie 5wt % o =i a1 sim-ain s # af e F1 TH % ¥
B fﬁﬁ?@mw T & 9w Bid- H @ e € |
|1 faufs an 99w g ey % for § D) W % T I, I = 5
et 14 & | T ST 5 AR 35 37 Arard e 21 & S G S & A H T
ﬁﬁ%l@ﬁ@ﬁ%&@ﬁﬂﬁ?%ﬁ%ﬁimﬁq @w@ﬁﬂi%%mﬁ
TAE | FO MR M A HTHE AN TR | TR | g sfy@ 7 250 il 28l 61 7eg |
ﬁ@ﬁmﬁmﬁaﬁﬁﬁilgﬁw forhe HEl A€ & 7
el At e gt e e (A) T i freelt w1 faren, = sh
fiparf g9d | TR S H g 7 ®) ¥ i fedl frard # dam-ay %
a3 & | @ F e o F AR | T foru Sifta e Teg & |
e aE T U, | (C) TN S bR
TR, At feEm an daE it wil ST R 1 i %ﬁmﬁmm'mmﬁmmﬂ
35 1d § e (D)
T ot wad o @ a0
T R R M 2 fore aTed 8 e & | TR
7 fyaghr ue gwen 9@ & 7 e |79, m—www-wmiﬁi
i et = - s eg-wE i W (A) aeges 3l g ) dE s A | R
iy ) AT 70§ | 1 G £ (C) HHuTE 3R §F (D) Ta AN AWM
A 6 AEATEHD T R 7 80. GrgH frarfi HAa € 7
FLEeomEw i S @ # ¢ drg A, 7 e N W (A) W We WG 7 AT 9 T F
g & g df @ # | 3 g @ w0 8 Al ferefi firarlt @1 vig wim} & R v @
nfm‘iﬁgﬁ%,ma:ﬁ-‘mimﬁa’iaﬂ(ﬁqrﬁaﬁ Q¥

(B) M BR =l ¥ 3m-wm @k T

i
r

et} 2 firg e 3
gzt | Mg wir arel ) @ faerd o) 3 (C) | g Wi T s & A
ae 0] 7 3 | 3 T I AR gl faee wm \ difei @ fafeaa B |
i 3 ¥frg gt T # e F 2T w0 1= (D) Wit <m o Bid-dt faufs an 9@ @
3, o9 T T A HEA R | 1 I AR WA & for Frga A3 £ |
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g. 81-85 : fam ™
ST #@E = E 2020, 2021

iz il o o (o
Tl 4 ©8
Gl (&

(. 81-85 : The given Line graph Data Interpretation
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T

4= .22 ¥ -
L] i A ¥ L#] - e
@Aty i “ﬁ"ﬂ 38 R A JUr-s o

s

Chart shows the sales of shoes Hm thousands) from six

stores m SIx

different cities Ko

years 2020, 2021 and 2032 :

81.

82.

35—

PZAA

I R 7
What is the ratio of the total sales of Patna
store for three years to the total sales of
sansol store forthree years ?
380/640 (C) 30761 (D) 172/189

Total number of shoes sales on Gaya store
and Patma store together for three years IS
approximately what percent of the total sales
of Dhanbad store and Ranchi store together

] kata, Patna, Dhanbad,
Ranchi, Asansol and Gaya during three consecutive

e «?é‘—:"’ -

2022 % N W

#i= =al 3§ Hiema QN 92N =2 3

=2v 1 7l 201 T o e e e R 7
\'PJT'Lat is the total number of shoes .;';s.\;leé of
Kolkata store, Patna store and Ranchi store

together for three yeaj
(A) 1140 (B)y 12500 (C) ii‘-ﬁﬂl{D} 1820

. 86-90 : UF #% § wi" FelZ TE (A, B, C, D,
3 E) 3R ui= swrEeez T (P, Q, R, S 3T) 53

gii | qEET TTE-w1d Wedsh SAE WTEY gR W M
te

~_
g
gie
3!-'
£29°
J__i:ll'.‘l
[e®

K oo

HE !

F wfaara =1 gitan & 9w Sl 98 U HiY
w9 3 qEn oA g A e
20 @relt fwu e & gfaur &1 gt & =| =
TIzeiE TI5Y T 6T Wiel A 7 |

o & el 8EE = 1000 et

Tt T TIEY U WY @er W OF W § T
T = 2 fre

o FITET TEY O WY Eied T3 w T
FRdemanE = 1.6

Q. 86-90 : There are five inlet pipes (A, B, C, D
and E) and five outlet piEeﬂ (P, Q, R, 5 and T)
connected to a tank. The first pie-chart represents
the percentage of the tank filled by each inlet pipe
when all the inlet pipes are opened together and the
second pie-chart represents the percentage of the
tank emptied by each outlet pipe when all the
outlet pipes are opened together.

Total capacity of the tank = 1000 litres

Time taken to fill the tank when all the inlet pipes
are opened together = 2 minutes

Time taken to empty the tank when all the outlet
pipes are opened together = 1.6 minutes

\

AT
&£ L1
zﬂﬂ
2o

o

te=

G

o

A wfmm
for three years ? =t o s v e E_g_ﬂhfnhn
o 533 (8)7675% [0S brsest% | Y ATk, tugeol Tk Empicd /P ]
g3, 2021 ¥ SigEm & geq ©R 3R 49Ee e
=i w98 @1 Ed =1 fapaan wfeem,
2022 # Tl ©WR ST T 3 T 'R
w3 1 3t fafl R 7
‘What t of the average sales of shoes on
Kolkata store, Patna store and Dhanbad store .
2021 is the average sales of shoes on Ranchi 2%
store, Asansol store anfLLiaya SIOTE in 2022 ?
A) 86.12 % 86. uﬁma.n,n.ﬂmsﬁﬁwﬁ‘ﬁ
tC% 129.03 % D) 93937 ﬁmmﬁhﬁﬂﬁﬁﬁmﬁﬂﬂﬁ'
84, ¥ 2020 % forg T ENF #$1 sfaa e kil "
What is the ratio of average sales of shoes of tank ‘:ilr pipes A, B, D, R and S are opened
2020 to average sales together. .
ﬂm?:ﬁb&myw ¢ the year 2021 7 (A) 18 fa2 /minutes L) L5 ﬁﬁ'ﬂ;’mmutes
}Ag 45/59 g:lﬁm (C) 92 foe /minutes  J(D) 6.67 2/ minutes
C) 121/253 Z I akbies —
..... -----vv---l--—h*r—---—r—-—'-""‘—-"‘"' h’INZ
o : tLe 13 P ) ;e
— 4 6 R) 2_ _'_:":!___ ?‘) o F %
"::-E? 9 a e .Qj'

H

|

\



p—

_Join Telegram Group "HaryanaJobs.in"

e T I Y R L P gy,

87. ¥F % WA § wHA 9 C g few M wHA
3R 3%l 9189 D g fore e wmy & A
3% w1 @reft w0 § 3ot yrgy R g ferg g
oy 3N 3Fd Y T g foe oo @ma &
A1 | 9T Fd i |

Find the ratio of the sum of the time taken
by pipe C alone and time taken by pipe D
alone to fill the tank to the sum of the time
taken by pipe R alone and time taken by T
alone to empty the tank,

(A) 8:15 [B) 79| (C) 16:17 (D) 9:13

U9 B 3 C g0 o Ty ¥ @ e F R
T §HG 9159 A, D 3 E g us | v |
GUE:CCE: Rauty|

(B) 1.67 fire

(A) 3.5 Tz
(C) 2.89 fime (D) 4.2 Tme

The time taken by pipes B and C ther to
fill the tank is approximately iig%ue many
minutes more than the time taken by pipes
A, D and E together ?

(A) 35 mir!utﬂ; (B) 1.67 minutes
(C) 2.89 minutes (D) 4.2 minutes

urgy P 3t R g0 0% w1 & @l w3 §
fere mu wwg #1 utgw Q, S IR T T ww Wy
?mmﬁﬁ +W 7 fog T wwg & s W=
7

What will be the ratio of the time taken by
pipes P and R together to empty the tank to
the time taken by pipes Q, S and T together
to empty the tank ?
(A) 5:11 (B) il:El(C}]l:H (D) 14:11
afe ot Ttz argq 3N JEEEE 99 T WY
@ fen it o g & @t € # S A
wHY 1A HIRIT | .

If all the inlet pipes and the outlet pipes are
opened together then find the time taken to
empty the full tank. _
[ (A) 8 ™94/ minutes |(B) SﬁﬂZ!mgums
(C) 127 /minutes (D) 20 R72/minutes

88.

89.

90.

Q 91-95 : Study the table charts carefuly ﬂ?d
answer the questions given below :

Table 1 shows the Production, Expor
Import of crude oil of 5 countries il? 2020 Whie
Table 2 shows the percentage increase in Pmdllctiml
Export and Import of crude oil from 2020 to 2
Study the tables and answer the questions :

Note : Consumption = Production + Import — Expor

wfere1/ Table 1 :

What is the average consumption of crude
oil in each of the five countries in 2020 ?

(A) 1200 (B) 1680] (C) 2200 (D) 2400
92, znzzﬁmﬂ_mﬁﬁﬂaﬁm
G RIE ?

What is the average consumption of crude
oil in each of the five countries in 2022 ?

(A) 512 (B) 1024{(C) 2054|(D} 1568
2020 ® gt 29l =1 & " FEh-amE

2w/ Country | FeawEA/ Pt /| amm )
roduction| Export| Import|

ST / 2100 | 600 | 400 | g,
Afghanistan =]

s sy 1400 | 400 | 300 |1see
Bangladesh

¥z /Bhutan 2000 | 800 | 400 | te=
s /India 2200 | 600 | 500+ 2o
wretera /Maldives| 700 500 | 1300 E_

afre/Table2: 8%~ 41*° larg oo
¥/ Country | 3dted/ | T3t /| smm/ <

Production | Export| Import | E?}}S

HAEHEH / 20% 15%, | 18%
Afghanistan 2820 £a0 492 | 4
AT / 25% 24% | 22% |~
Bangladesh 1% §O ya, | 6 ¥
W /Bhutan | 25%"°| 25% | 20%" °
NI / India 229%41 200771575 A
Arerda / 24% 25% | 22% | ¥ .
Maldives gL 2 K. o] "'.T:*

91, 2020 H WS uig ¢wil A = aA BT WA —

A TR 7

» 202 - 93,
s 3 @ i 8, FafE afer 2, 2020 @ A TR 7
2022 % F= a1 % I, fafa it smm A What is the export to import ratio of the
) gufd & | afermal B AT wt 5 countries together in 2020 ? s
I | 3/60 (B) 175/13 AL
2z : @A = I + A - frafa 1 (D) 13175 &
MN2 %}4 ool 20 BT 14 o
—=Z h
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94. 2020 ® 2022 % H= A & @ug

ST gy Frerferfian i @ Rra 2 & e

w2 ?
(A) FIFMREE | (B) arer
(D) ATeTRE

e
V'{T?']Z‘ percentage increase in the crude oil
consumption from 2020 to 2022, is highest
for which among the following countries ?
(A) Afghanistan (B) Bangladesh
(C) Bhutan (D) Maldives

95, 2022 ¥, ffaflga et # & fpw 2w =

GA T Ha 31 o 7
x,{%mﬁ'ﬁm (B) ®TerTed

E (C) ™ (D) merds |
e

e

In 2022, which country’s import to
consumption ratio was highest among
the following countries ?

(A) Afghanistan (B) Bangladesh
(C) Bhutan (D) Maldives

. 96-100 : Fr=ferfan afeem o &1 wmgds
e L R A g o v 3 s

31479 & UTH 5000 AR JH U R | TR FeI QU H]
40% BE 37— 3T (A,B,C,D,E,F) %I
A0 8 R FT qU F AW 60% T8 AT gHH
§ TGN @1 R | W% A, A, B, C, D, E
3 F 2 gy & ot firema € | A= @ afer
AT T VR ST e SAfHREl i 44 T g
1 o foshl =1 wlawa & a0 § el sk ¥
OE =il § @ IRS g Ig gy H gr frem
% a7 gt i1 T i g R | 5
Q. 96-100 : Study the following table chart
carefully and answer the questions given below :
Akshay has 5000 litres of pure milk. He
sells 40% of the total milk to six different
persons (A, B, C, D, E, F) and the remaining
60% of total milk he utilizes in his own shop.
Each person, A, B, C, D, E and F mixes water
in pure milk. The table given below shows the
sales of milk to six different persons by
Akshay as a percentage of total sales and it

also shows the concentration of water after
adding water in pure milk by each of the six

persons.

o kv;zyf-’-

96.

98.

99.

104,

wfad / R
Person g‘ﬁ | arh e % %ﬁhe
Sales of | concentration of water
Milk (After adding water in
pure milk)
A Zﬂﬂ}"q Voo 20% ¢€oD
B 10% 2pe 10%, 222.2
C 10% ~eo 15% =g
D 10% %o° 18% 4]
E 30% ¢bo 25% Qoo
F 20% yloo 12% 4sy
=i A 3R =R C g frem o

ol AT % & 91 A 2 7 (Fma)
What is the difference between the total
quantity of water added by Person A and

that of Person C ? [aprm;imuﬂy_\_
(A) 56cfet/litres |(B) 65 #0127 litres

(C) 73l /litres (D) 75 7127/ litres

=fd C gr e e 9r 1 F= A ok
=fe E g e e g i g9 o
wafd ST TR ?

What is the respective ratio of the total
quantity of water added by Person C and the
total quantity of water added by Person E ?
(A) B:34 B} §1: 287

(C) B83:285

e # @ fre 1g g ¥ wad s O
§ (eftex &) orft foreman 7

Who among the following added least
quantity (in litres) of water in pure milk ?
(A)B| B)C (O D @ODF

WA wfe, A, B 3 C 39 99 91 T 97
§ e € @ Ju gt § qu A R w/q
Erft 7 (emm) o
Suppose, A, B and C mix their solutions in
one vessel then what would he:,-_ the
concentration of milk in the new solution 7
(approximately)
A) 75.2%
i wafirat o et e et arft

rar A 7 i,ﬂ'-‘l‘!-llll' i :
E;w many total litres of water wis added by

1] the persons togethe I 2 .;m!::!g;tsl;;
:M 460 () 450

(B) 78.21%
(D) 89.65%





